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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper containsg 37 questions. All questions are compulsory.
(it) Question paper is divided into SIX sections — Section A, B, C, D, E and F.

(iti) Section A - Question number 1 to 20 are Multiple Choice type questions.
Each question carries 1 mark.

(iv) Section B - Question number 21 to 24 are Very Short Answer type

questions. Each question carries 2 marks. Answer to these questions
should not exceed 40 words.

(v) Section C - Question number 25 to 29 are Short Answer type questions.

Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

(vi) Section D - Question number 30 to 33 are Long Answer (LA) type

questions. Each question carries 5§ marks. Answer to these questions

should not exceed 120 words.

(vit) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

parts — 37(a) History (2 marks) and 37(b) Geography (3 marks). This
question carries total 5§ marks.

(ix) In addition to this, NOTE that a separate question has been provided for

Visually Impaired Candidates in lieu of questions having visual inputs,

Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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(W ) (Multiple Choice Questions)
1. o i g % gas S 1
1.  Choose the correctly matched pair - 1 2
I I P i
I 11 =
] (wg-Stef 7w ()
m (A) TSR e (Multi-purpose River Project) (River)
2 | i
m (B) ®R®s - meah (A) Gandhi Sagar —  Chambal P
= | E .
R X
m (C) AP PR - FEd (B) Hirakud ~  Godavari
g e - |
3 ©) A (C) Nagarjuna Sagar ~  Kaverl :
m 0. faferfam & & forw Sae 1 FTET W' ¥t g1 e § 7 | | (D) Salal - Beas
(A) &9E
(B) 4 2.  Which among the following crop is known as ‘Golden Fibre’ ? 1
(C) ¢ (A) Cotton (B) Wool
m D) wm™ . (C) dJute (D) Silk
2
3
“ - m W . . "
m 3. WaAQT hahd fe T fehedt 3 & I & THT T Tg=H HIT : 1 3. Read the characteristics given in the box and identify the type of coal from
<
m e TiENH ky e g 2 the option given below : 1
2
w o FHPINIE HSH .@Eﬂu_.m % A9l § srafeq 4 ° This is low grade brown coal.
R
m e  TEHAEH B & HY-TY T i gar g | _ e  The principal reserves are in Neyveli in Tamilnadu.
u m o Itis soft with high moisture content.
: faweq | |
“ Options :
(A) e BRI (A) Pit Coal
(B) TYHETE Hidel (B) Anthrasite Coal
(C) fTormrge s e (C) Lignite Coal
(D) Ww.Pu.m HITAT (D) Bituminous Coal
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4. wrE ¥ fasy o o v w9 % vt waifows am o

O.

[I1. wrsr SE! 1 79 Sfaffre wem o |
IV. & sl 1 Arfaie vt yem o |
faweq

(A) Faa L, 119 I 9& € |

B) FEa L IITIVIEE |

(C) Faa L IIFIVEEE |

D) FEAILIIFIVERE |

6. T 3T I -G A o b A # 7 g S e F 59 HIRAC |
(A) ¥ =gfe 6t TR Y ager 2 & |

(B) ¥7 SAMSHI & HHHET @ agrar 21 2 |
(C) & Faw Fsft wafires ) wpfer ) wgra 21 2 |

(D) ¥z =feqae = sgErear |
_ 32/6/3 Page 6 of 32
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Which state of India has the maximum area under permanent forest ? 1

(A) Haryana

(B) Himachal Pradesh
(C) Punjab

(D) Madhya Pradesh

5. Belgium took some measures to solve its problem. Read the following

measures and choose the correct option : 1
[.  Formation of community government.

II. Following majoritarian policy.

III. By providing equal representation of language groups.

[V. By providing additional powers to local governments.

Options :

(A) Only I, II and III are correct.

(B) Only I, III and IV are correct.

(C) OE\% I, IT and IV are correct.

(D) Only II, III and IV are correct.

6. How is democracy better than other forms of Government ? Choose the

most appropriate option. 1
(A) It enhances the dignity of individuals.

(B) It promotes equality among elites.

(C) It promotes tendency of private ownership only.

(D) It increases the individualism.

— 32/6/3 Page 7 of 32 w.e.o.—
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7. R S W 3 ST e T ¥ Rwfor ¥ e § e s ®) 0 T T8 R 7. Read the follow; |
Owing statements regarding the creation of States on the
%1 933 £ - 1 basis of language in India and choose the correct options : 1
I NTW S STUR O W @ Ry S A%@ﬁ e mwﬁw _ [.  Formation of states on the basis of language made the country more
S united and str .
II. n@yuﬁ%ﬂdﬂ%@gﬁi%%ﬁ%m@%%gw_ . o
. . | II.  Formation of states on the basis of language made administration
[II. WINT & ATYR | & Ftor & iz TR FHAR RS R | easler.
IV. g%ﬁéﬂﬂi%:&u@ﬁ%gw&ﬁgmwﬂ | III. Formation of states on the basis of language has weakened the
ey - federal structure.
A) Fesl ISl E IV. Formation of states on the basis of language led to the development

of Indian languages.

S ’

B) Fa« I, ISV E |
Options :

C) Faa [ IITIV
©) | e A& Only I, IT and III are correct.
(D) $a L IITIVEEE | (B). Only II, IIT and IV are correct.

: s (C) OnlyI, II and IV are correct.
8. ¥ugE!d Faua FEl faweq %1 w97 Fifvne |

(A) gfeE, foceht et ok $iy

(B) =R, &= 31k faare . . .
(A) Police, Foreign affairs, Agriculture
(C) Toe, STioTSY R Sfehm | (B) Trade, Irrigation, Marriage

1 @) Only I, III and IV are correct.

8.  Choose the correct option related to Union list. 1

(D) 7=, TR 3R wfewen (C) Education, Commerce, Banking
(D) Currency, Communication, Defence
9. WA % &A1 T g & qatud wEt fases %1 9= fifv - 1 . " . .
Q1 Bl [H T | 9. Choose the correct option related to the regional political parties of India: 1
L e | Party Name Election Symbol State
(A) TPH dAFEH Toe
ITR el (A) Rashtriya Lok Dal Mashal Uttar Pradesh

B) T [ \ EIHETC| HTY T (B) Telugu Desam Cycle Andhra Pradesh

(C) e Ty afify qaT FerTen (C) Telangana Rashtra Samiti  Kite Telangana

D) ferimfr s - . (D)  Shiromani Akali Dal Chashma Punjab
— 32/6/3 Page 8 of 32 — — 32/6/3 Page 9 of 32 P.T.O. —
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(A) I, IT 3R 111
(B) II, III 3
(C) 1, III 3R 11
(D) II, I 3T 111

- 32/6/3
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III.  Sicilies
Options :

(A) T, IT and 111
(B) II, IIl and 1

(C) I, III and 11

(D) II, I and 111
— 32/6/3
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14, - e @Y. T 3 _wﬂ_ﬂ_wﬂ_ '
-1 ¥ w11 8 3R 14, Match the Column-I with Column-II and choose the correct option from
-1 w-11 the following : 1
(Y&H19[) (Ha®) Column-I Column-I11
a.  §TE ST i, godREm™ (Publications) (Authors)
b. Fad i, 9 IR fReh! a.  Bengal Gazette i. Tulsidas
, i - b.  Kesari ii. James August Hickey
| c. Ramcharitmanas iii. Ram Mohan Roy
d. warRFNd iv. e TR foere
d. Samvad Kaumudi iv. Bal Gangadhar Tilak
_ﬂﬂﬂ < .
Options :
(A) ai b1 can v A ai  bdi  cdii  d-iv
buiis .3 4o
(B) a-u m Cv 1 4 (B) a-ii  b-m1  c-iiv  d-i
(C) a-u b-iv  c¢-i d-ii1 - . .
(C) a-i  bav ¢4 d-11i
) aiv  bd  cei  deiid i | .
- (D) a-iv  b-1 c-11 d-111
15. fawq i vg=@ Hifs | 1
15. Find the odd one out. 1
(A) fegem Fged fafies
(A) Hindustan Computers Limited
(B) _ww:__ | m_m__ o (B) Hindustan Unilever
(C) ¥t waree ferfiee (C) Bharti Airtel Limited
(D) ST g &a (D) Indian Postal Service
32/6/3 Page 14 of 32
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L  Two statements apa o
16, 99 D wus Rome | s (A s wrw (R) # | A1 wyAt #) ﬁﬁﬂ%ﬂ ﬂwﬂ 6. Blven below They are Assertion (A) and Reason (R).

Read both the Statementg “arefully and cho
0ge

;.a

R T ey 1 T _ 1 the correct option. 1
Assertion (A) : Rupees ; |
s (A) ¢ WA | F90 fyfarg & e & w5y § @ fien S s g | e accepted ag medium of exchange in India.
Reason (R):  The World B .
. . . ank legg); dium of
&R (R) : Wﬁ&ﬂ.ﬁﬁwﬂw%éﬂgwgwgﬁﬂmﬂﬂw_ galises the use of rupee as a medi .
Payment in India.
i Options : L
)

(A) 291 (A) @ (R) G€&t 8@ (R), A>v&ﬁ%§w |

(AT R ST

(B) mw...w (A) T ( vﬁ.% M, j Qwv. Qrv & .m.%_ u.% ..W _ Amv Both OPV and AHG are Correct, but Qwv 18 not the correct mxﬁwmbmgoz of (A)

(©) (A) T Y, W (R) e & | AC) (B1s correct, but (R) is incorrect

(D) (A) T4 B, W (R) T& & | (D) (3) 18 incorrect, but (R) i correct.

. & ) “._w ..N . §~O~.~ Om. ﬁwﬁ@ Mozosgw - ¢

17. "HETH Tl TER Aoy sy ey R — 2005 & e 3 8w 1 Provisions have been made under the ‘Mahatma
TTETR T R Gandh1 National Rurg] Employment Guarantee Act — 2005’ ? 1
1

(A) Government ensures 100 days of employment for all residents.

(B) Government ensures 200 days of employment for all rural residents.

(C) Government provides grains in exchange of work in rural areas.

(C) GTTR g 39 3arta oy &5 T T % e I o1 ST |

(D) Government provides unemployment allowance to the beneficiaries

(D) TSR G H STHES T64 TEER AR F 3578 3771 w2 oot 2 | tn case of failure to provide employment.

- 39/6/3 R — — 32/6/3 Page 17 of 32 P.T.O, —
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| the following mgg_:m::, : ~
18, v ) virm &) 3y @ & qav N Fﬂmﬂﬂy HYA] & ﬂwn 3 ol e & d choose the Correct Optiong - T m:S:_:::n the process of globalization
_ , T H
” ' Government red
“ e %ﬁ | 1 I. i — trade UE.ZQ.@
| ] YR TR NaOUSH! &) 5 @ R | 1. Gove ent reduceg Competition
et & v q1. Government redyceg i, among producers.
i R . Y Government POTt and €Xport taxes.
. , remoy oy
M [T, SR A @ gt s &0 &l ) w\ tions " Testrictions o foreign investment
m . P i
m IV. wwr e faw w @ yfey wedt @ m/ﬂ Only I, IT and 111 are correct.
m ey - (B). Only 11, IIT and 1v are correct
: :
m (A) s I, 11 3R I 5t & | (B) &t 11, 111 3 IVa@ g (C) Only I, IIT and 1V gy correct,
2
m (C) s, I IRIVEH | D) ¥ 1, 11 3ix v —e @) Only L ITand IV gye correct.
: , S
: ‘ ta 1ncome’ ; b s
; e =¥ 3 . g, Ter - 'S criterion for develo ment of which one of the
19. & forg “wfa A w%ﬁmw@gnzmwww 1 ; following ? ’ 1
A) 7 T R : A) United Nationg Um<m~ov8m5 Programme
B) fava ey Tsg ®) World Health Organiggg;op,
. C) World Trade Organisatio
(C) Tava =R g ( n
.wg World Bank

m D) e ds .

90, Rama is a farmer. She needs loan for g

griculture work. Which of the
! f loan wi : h st
20. ™ & T ! following sources o Wil be beneficial for Rama ? Choose the mo
Al w_%ﬁmwww@mms%wﬁmﬁgw_gﬁdw@%@ﬁsw appropriate option : 1
Rl gm_ﬂm_umm@ w,m.m.@uammm *wﬂaﬁmﬂ%” 1 . Bank
L & [I. Agricultural Trader
II. SN = I Self-Help Group
[1I. =9 98/™a aqE | V. Government
W o_awnﬂ | [, IIT and IV
(A) Only 1, lll an are correct.
faeeq
(B) Only I, II and IIT are correct.
(A) FFa ] ISRV ERE (B) et I, IT 3R 111 w1 € | (C) Only II, IIT and IV are correct.
(C) et II, II1 3R IV wét & | D) FaAl, I 3MIVEE £ | (D) Only I, IT and IV are correct.
P.T.O.
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29. 1815 ¥ whiw & wfa wfardt e srawen £ wE-gurel & samE £ |

— 32/6/3 Page 20 of 32

How did informat;
Nm. 10n mbg p .
of Globalization ? Explain “OMmunication technology promote the process

2
est an
24- RORE Y tWo ways for the Conservation of minerals. 4
(5 x 3 =15)
SECTION - C (5 x 3 =15H)
3 (Short Answer Type Questions
w f S G teatures of commercial farming 3
3
b
26. Describe the role of Primary sector in providing employment 3
3
E
mm (a) Explain any three factors responsible for water pollution 3
3 . OR
(b) Explain any three factors responsible for air pollution. 3
3 : .
98. Differentiate between federal and unitary form of government with examples. 3
3

99. Explain the ?sgwobgm of conservative regimes established in France in
1815. 3

— — 32/6/3 Page 21 of 32 w.e.o.—
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T T T RS A A I RN RN BB BN A ETTIAIIE BIT T NI R TT AT T TIRRRRRRRNR I B N BN i fgwpr mwrist s waren

N
WS - ¥ il 20) ~
(& -3 o) o SECTION - p (4 % 5 = 20)
€ Answer Type Questions)
30. (a) T & forg wrdwfies ghal & weee @1 e T ;
K
WY 30 (a) EXamine the imp ortance of Public facilities for the development 5
(b) ﬂﬁwﬁm»&mwﬂmﬁzﬂduﬁg%ﬂ%wﬂﬁ%wgwﬁum:_ Which ~
> fre R . @ 1l Organization publishes the Human Development Report and
qTIRS! &1 fesaT e & 37eh! ST HIC | 5 what criteria does it use to compare countries ? Examine D
1. (a) I TE H qET AN N sTE R | 5 37, (a) Explain the main teatures of alluyial soil 5
>
YT OR
(b)  ¥RE % Famem e & ffis g TS FEeh! STavaehaIa i SATEHT HilvTT | (b) W“Bs the various stages of resource planning and its need in
: 3+2=5
3+ 2= 5
32. (8) “The law enacted in 1956 and other Constitutional Provisions led to
32. (a) “1956% . . L . | other Constitution
ST T HTF 3R 317 g3urfiys YT 3 sficiert & g agl & o9 78 major conflict between the two communities in Sri Lanka.” Support
THE HT ¥ | fargy 8 Fo ) g Hifve | : the statement. 5
3o Ok
. (b) “Power sharing incy . xS rt
(b) ﬁﬂmﬂ@m&gﬂ Ty o § i wrerfiah _ : €ases trust between different groups.” Suppo
e PITSTY the statement. 5
ww. Amv ﬁd.— m% @ ﬁa o >
kSl o 9TE ST et Tgferfaat it fearsrearart it same HIfAT | 5 33. (a) Explain the features of manuscript found in India before the advent
77T of printing culture. 5
(b) ﬁsi%gﬁwzﬁ%%ﬂﬂ%mﬂﬁznﬁﬁ@swﬂg o
mw.?n _ (b) How did the advent of print culture affect the poor people in India ?
— 5 Explain. 5
- Page 22 of 32 _
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34. Frrfirfen wie Ai\mﬂﬂ =
) i 3
e Raw A &
#) YUY e ferr
’ Nm i
1930 4
SE(C
(C “CTI
4 Read th ase/Soyy ON-E
3 e foll ce B ~
I'ce an —o:mv A Gg= ,_.Nv
d answer the
DCQ@HWOBQ ﬁT
at m.OZOﬁ ‘
4

(inale
A,
o , R 32 o . o} g
TER HTA! TG T3 % Yyt =1 & e ot F
& §gE 1 39 & 3 Hftwl § Faay firet | g e e b1
S I T F 1 i ﬁ%w%ﬁ%ﬁ&@ﬁdwﬁﬁ any oth
T, atea e & wfes ? | WRa 3§ &t e I M FHR h °F people, ¢ the
, i U9 Jmeafae 8 A e wEn ave the necessi © have f nalienab]
FaEd AR S R ST 1 S R 3 3 ¥aet WA qrowth. We amm;am W reedom ang % right of the Ind
. S e, ia
(34.1) ¥Ra ¥ &S Y 9 ayft g .um_. W e R | gafer ? ot 2 rights and op 0 believe th S0 that 550 enjoy the fruits om: DRGE. SN
(34.3) WRA H & THK I IR SO ITH &1 9nee | people o Gov eople h eprives peo s of
% T TR ? spiri has ruj . India h right to alter i
35 Peffed A s . pirituall uin ut b as n it o
=l 1 y. We . ed Indj ased 1 ot only depn r
%m.wﬂNﬂ wuwﬂ m.ﬂ,@ﬁ%.@.ﬂ connection and dmrm/\m, th 12 economs itself on the explos mﬁ.ﬁzmm the
9 A9 _ i (34.1) Wh attain P erefore ically, politi ploitation of th
*Nﬂ y ur , tha . ically €
T T TR T & I - (34.2) Whi was Swarej comapr L ¢ India must se ExMeaALy: RN
W _ Wﬂ .ﬂm my N& ﬁ wﬁ ﬂ% gﬂ - A@ﬁ WV ENUHMW» Hém Om. W.OHCOOOUmwa.QHQQ mmwo MOBUHQA.\G HSQ@@O&MMOH dwﬂm w:ﬁumw
__m__w._ﬂm qehdl am r n : ence.”
T w2 2 % 92 gur R AT | 4 | any two Nment is sy inalienable righ ©
3 e @ O S b 35. Read th effects of B wpported in th ght of the India ?
&l T H o & fore ITd & a9 3% YT SATEIT o IR & A1 e following g ritish rule in I am source ? 1
Hl et e = e w3 At 1 SR E5 Ource — 1
ﬁwﬁm e 1 S g & e %mm_mﬁﬂﬁ sl memw ﬁwm.miu_m &1 As we have oy zm“wwz Swer the questi .
_ . o
a1 38 T HHW RUERCAT =G gt ? | fafie FHR THR societies becam seen, large n..Hucremom_ P Hwbm that follow :
| el A:WE.—( H{h{ m_q_lm#.@ mmS.»m - e lar societ) arties :
_ _vma__ % . &1 gﬂ% r diffe ge g 1eS n 4
3T T i R ST 3T Afet TS B Hh | I govern rent view ad comple eed representat
T H & | el et #1 e AT H FAY ment. They et X, they al ative democ
_Wﬁmﬂ,ﬂ LG LA AT g eommeﬁmﬂ y zmmﬂ rous 1s SO 5@@@@@ racy. >m
(35.1) ‘wfafrearers TH 8 Hehd 1 Tt i A F so that a ed som sues and some &
(3 : 2 T uoifas ft S&d Brdt 8 fere mechanism to responsibl e ways, to bri to present th gency to
va H%ﬂw m:ﬁm. = @“_.MM Nﬂ.ﬁ#ﬁm . M_Quﬂ.@ﬂwﬂm& or op support € governm ring vVario ese to the
= frg o3 Hifse £ v FFEr pose th OF restra; St conl us repres .
(35.3 THR | Ird re em. . rain d be f entat
3) Ui gal S o i & presentative Political the govern ormed. They ey
3 m...u—ﬂ;ﬁ.ﬂm— mmﬂw.m 2 condition governme parties ment, make . needed a
2/6/3 & for nt h fulfil policies, ]
. foru srravas vd ﬂw 1 (35.1) Expl a democracy 55, We can mmw these needs Mmm, justify
HAT a . yt
Pa m:ﬂ.w ? ST 1 (35.2) Ho In the meanin hat parties are at every
ge 24 EAIELY w d - g of ¢ an
of 32 | (3 0 polit of ‘re ecessa
2 5.3) Why itical parti presentativ pd
are ﬁorgo 8 mwwmmum : e democracy’
democra al partie public opini Y-
— Cy ? Mxﬁumg S considered ion ? 1
— SN | a necessary conditi , 1
MHHOS WOH a
Page 25 of 82 9
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AR TN S B & O T TS N B0 ey, {1 {1 D B AU BRI R N ITRRRRNNNI ER g o rmammmaames
i B o e o o

B B

FIH FEHH FIT TR F F% T T 3§ 7 et 2 | 3% 2300 o T & |
ﬁﬁwi@mﬂgﬁﬁm_ﬂﬂa@mwgﬁw%,ﬁmﬁa%w

#@éﬁﬁgwi@ﬁﬁﬁi&i%w?g%fﬁ
1 e % [E Fh g N T R s e 2

ﬂﬁﬁﬁa%ﬁwﬁﬁsmﬁw,@%gﬁwﬂﬁﬁw,ﬁ%ﬁ%,ﬂﬁn
@?ﬁm?unﬂzwﬂwﬂnﬂs%ﬂaw_

(36.1) ﬁg%wgwgﬂﬂgwﬁﬁdﬁﬂw%ﬁﬁéf 1
(36.2) ﬁmﬁﬂﬂmﬁm@@d-ﬁsfuﬂzuﬁm&mw 1
(36.3) HEHRI WAfAl H FRITUTR H szrea iy |

Qg - g (2 +3=5)
(T Fheret s we)

37. (a) gﬁnﬁ%dﬂ@ﬂﬁ-ﬂ?m&ﬁﬂﬁ%ﬂw,wﬂm%ﬁm_

%ﬂﬂﬁ&%ﬁmﬂﬁ@w&ﬂmﬁﬂ%ﬁwﬁ%ﬂu@ﬁ%%i
g&ﬂ_ﬂ_ﬂﬂ"

A. IR TIH &l IR T g % srfiaee 1927 § st fen | 1
B. 9% v &l weran nitft sft 3 fret aietl & snciom &1 g R | 1
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Read the following Source an( ANSW e

Loansg from Co-operatives

a co-operative pool their resources
- There are several types of co-operatives

ers “0-Operatives, weavers co-operatives, industrial
etc.

Krishak Co-operatiye fun

Sonpur. It r.mm 2300 farmers ggq members. It accepts deposits from its
members. With thege depos;

workers CO-Operativeg

members. Once thege |

1 08ns are repaid, another round of lending can take
place.

Krishak Oo.ovmnmaﬁ
equipments, loans
loans for constructio

Provides loans for the purchase of agriculture

(36.2) How do moz..mm:u Ouozvm access external funding ?
(36.3) Explain the functioning of Co-operative Societies
SECTION - F (2+3=5)
(Map Skill Based Questions)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political outline
map of India. Identify them with the help of the following information
and write their corpect names on the lines drawn near them :

A.  The place where the session of Indian National Congress took
place in 1927

B. The place where Mahatma Gandhi led the movement of cotton
mill workers.
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r the questions that follow 4

1




DO R 5O AB.OLS Li. oL ERERERRERRRRURRRRRRIRRRRR, IR, —
EE B " LN o n“WW“"”ﬂ.ﬂ'”’Wﬂ_‘W"’M‘M BSe £

-
»

PP S — e s——,vaL 3 LLL

The followin
E questiong gre for Visually Impaired Candidates

only in liey of Quest;
| ¥ yfATA AL ] | 'on No. 87(a),
87. (a) () I6ens® I Rrieg sl vl afta smw w1 1927 g . (@ () Name the place wher .
%1 3 R 1 3l took vl © the sesgion of Indian National Congress
00 :
(ii) %gﬁﬁgﬁa%i&wﬂmﬁﬂmw% e Place in 1997
fusi @ (1 ame the place wheye M .
aahfye E-aatas W Rsfafag i ! 39X ahatma Gandhi led the movement of
37. (b) YW@ & @ i AL % 8 fel cotton mil] workers.
th :
zuitee aft 39& T fafa v (b) On w Samme outline map of Ingiq locate and label any three of the
) e R o 3 A e 1 following with suitap]e symbolg -
1 Y :
: (1)  An Internationg] Airport located in Punjab
() o FRE T e W v () A major Sea port locateq in Gujarat.
(iii) 3E §IR A {Rd W %1 0 yq@ at 87 ! AWE & major oil field of India located in Arabian Sea.
(iv) I VW fua T rmfes et guy 1 () A Nuclear Power Plant located in Uttar Pradesh.
H y
e ; Frfien et e gt wwRidt % frg s wem 37(b) & wm W | R Note:  The following questions are for Visually Impaired Candidates
P | only in lieu of Question No. 37(b) (Atte mpt three).
. 37. () () Name the place Where an International Airport is located in
37. (b) (i) 39T H W frRaw el dome & ue stacieia arg v A R | \ Punjab,
i) 39 W F1 W foRee sl 1R § g fera 2 | 1
() - T T HEA] (1) Name the place Where major sea port is located in Gujarat
1
(iti) 3 FITH T HRA e &t 61 A Feaere | (11) Name an oil field of India located in Arabian Sea
(iv) IR IS & 39 WH FT I feftan st armifes ot & Faferd g | 1 (iv) Name the Place where nuclear power plant located in Uttar
Pradesh
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